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Excel Application for D eterm n ng Repeatability and
Reproducibility of M onitor ngM ethod

XU Jian-ping
(Pudong Nev Area Envirormental M onitoring Station, Shanghai 200135, China)

Abstract: Theworking sheet and computing fomulawere prepared by Excel for laborabries o calculate re-

peatability and reproducibility of monitoringmethod It ®lved the exclusion and deletion of experimental data in

sme laboratories The principle of statisticsmethod depended on® A ccuracy (trueness and precision) of meas:

urement methods and reaults Part 2: Basic method for the detemination of repeatability and reproducibility of a
standard measurament method” (B /T 6379 2 - 2004).
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Table 1 Thresholds in common usage of Cochrane test )
Xiv I = ll 21 pv
D n=6 “ (3]
1% 5% O
2 0 937 0 877 G =(xp -X)Is G =(x-xu)/s
3 0 793 a 707 X .S
4 0. 676 0. 590
5 0 588 0 506
12 1) (2) (3
6 0. 520 0. 445 (1) (2) (3)
7 0. 466 0. 397
2 5 Excel
Table 2 Excel of Cochrane test for variance of five laboratories of amonitoring method
A B C D E F G H I
1 1 2 3 4 5
2 150 ng sl 2 <3 & 3] Shax c P
3 1 668 2 089 53417 1978 5 341 07206 4
4 5 646" 1 556 1 868 2 230 2 265 5 646 0. 6657 5
5 3 427 2 594 1 689 2 773 0 362 3 427 0 402 9 5
&3 =MAX (B3 F3); H3 =G3* G3/SIM (B3 F3); BB =OOUNT(B3 F3); 4 H4 W,
G5 H5 5
l 2 l 2 , “ %* % "
1 3
Bl
p
2 2 2 2 3
G=5.1,/% 9 =2 (X(i) - X) .
. = Table 3 Thresholds in common usage of Glabus test
p-
2 _ = 2
%1p—i;(x(.)-xp1p) o
_ 1 p-2 1% 5% 1% 5%
=Y X
Xo-1p p- 240 3 1155 1 155
4 1 496 1 481 0 0. 000 2
(3] ’ 5 1 764 1715 00018 0. 009 0
G 6 1973 1 887 0 011 6 0 0349
4
2 2 2 2
G=4,/% S, =|: (Xp) - Xi2) 7 2 139 2 020 0. 030 8 0.070 8
1 p
X o = X
M, 2 p 2]; (i) 5
(1) > 5% , , ,
(2) <5% ,
y > 1% 1
, * ” 4
(3) <1% ,
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Table 4 Glabus test for mean value of five laboratories of amonitoring method
3 4 5 6 7 8
1 48 255 45 480 4,530 4,933 4,933 4933 4,933 4,933
2 50 618 48 203 4. 933 5 458 5 458 5 458 5 458 5 458
3 53 290 50, 457 5 283 5 765 5 765 5 765 5 765 5 765
4 54, 300 52 715 5 410 5 950 5 950 5 950 5 950 5 950
5 54, 670 55 250 5 458 6 000 6. 000 6 000 6 000 6. 000
6 5 765
7 5 940
8 5 950
9 5 953
10 6 000
p 5 5 10 5 5 5
Xnae 4 4 9 4 4 4
Xmag B4 Cc4 D9 E4 F4 e/} H4 “
X 52 227 50 421 5 522 5 621 5 621 5 621 5 621 5 621
s 2 728 3 805 0 498 0 439 0. 439 0 439 0 439 0. 439
Xnax 54 670 55 250 6. 000 6. 000 6. 000 6 000 6 000 6000
Xmin 48 255 45 48 4 53 4933 4 933 4933 4 933 4,933
Ginax 0 896 1 269 0 959 0 862 0. 862 0 862 0 862 0 862
Ghin 1 456 1 299 1 991 1 566 1 566 1 566 1 566 1 566
$ 1 12 691 12 420 17185 03538 03538 03538 03538 0 3538
Siz 1 0205 11 501 0 5913 0 0306 0 030 6 0 0306 0 030 6 0 0306
Ginae 04265 02145 0 768 8 0 458 3 0. 458 3 0 458 3 0 458 3 0. 458 3
Ghinz 0 034 3 0 198 6 0 264 5 0 0397 0. 039 7 0 0397 0 0397 0 039 7
3— 8 4— 8
4 Excel ,B12 = “ b
COUNT(B2 B11) ,B13 =B12- 1, 4 Excel 10
B14 =¥ B” &B13,B15
=AVERAGE (B2 B11) ,B16
=SIDEV (B2 B11),B17 =MAX 2 r R
(B2 B11),B18 =M N (B2 B11), 21 r
B19 = (B17 - B15) /B16,B20 i(ni ) 1)32
= (B15 - B18) /B16,B21 B d ==
=DEVSQ (B2 ND RECT(B14)),B22 2 (n-1)
=DEVS) (B4 B11),B23 , [2]
=B21/(B12 - 1) /B16/B16,B24
=B22/(B12 - 1) /B16/B16
,B14 = B"&B13 “ B”
, c . "B :r=2 8s
“c” 4 Excel , 5 5 h
4 g N .13 s [2]
“ ” “ S [2] n,
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Table 5 Calculation of repeatability r for five laboratories of amonitoring method
:50 ng il 2 3 s 5 5 S, P HJ/T 168 - S, r
1 668 2 089 5341”7 1978 19367 3 19199 5 42
N 5 6 6 6
(n-1¢ 11 1305 21 8189 195600 5251
n-1 4 5 5 14
5 646" 1 556 1 868 2 230 2 265 2 000 4 4 2 000 4 56
n; 6 6 6 6 6
(n;-1) § 12 0995 17.4378 248546 25 640 0 80 03
ni-1 5 5 5 5 20
3 427 2 594 1 689 2 773 Q0 362 2 4143 5 24143 6 8
n; 6 6 6 6 6
(n - 1) 5.2 58 7076 336443 14 2695 38 4475 06550 145 72
n-1 5 5 5 5 5 25
S :B4 =(B3-1) *B2*B2,B5 =B3-1,D4D5 F4 5
B4 B5; H2 =RT(A/GB), 2 =QOUNT(B2 F2) ,12 =RT(SIMN (B2 R2) / 12) K2
=H2*28 G4 =3M (B4 H4),G5 =3M (B5 F5)
22 R
31, 2 Sﬁ - Sf
TN
p ’
Sﬁ:p—-l]_i: ni()?i )Z_)z— :_le
p p [31, 2 _ 2 2
[EnGO*- (0% F TS TS
. :R=2 8
_inxo o _ 4 5 R,
T, e n=n [1] (3]
$ $ : 6
n =n $
p
( P2 X )
6 5 R
Table 6 Calculation of reproducibility R for five laboratories of amonitoring method
1 2 3 4 5 s 3 n S P S HIT168-S5 S R
: 50ng
X; 65 59 54 47 <3624 56 10 58 316 5761 3 1937 5 949 6 08 17 02
n; 5 6 6 17 97 56
nix 327 93 326 84 336 60 991 37
N3 21508 17 804 18 883 58 195
X, $18 255 5062 5329 5467 5430 53 220 1637 4 2000 1637 258 724
n; 6 6 6 6 24 144 60
niX; 303 71 31974 328 02 32580 12773
N 15373 17039 17933 17691 68036
X, 4548 5272 5046 4820 5525 50 421 3675 5 2414 3675 440 12 31
n; 6 6 6 6 6 3000 180 60
nix; 272 88 316 29 302 74 289 22 33150 1512 6
;3¢ 12410 16673 15275 13941 18315 76614
5 :B4 =B3*B2,B5 =B3*B2*B2,D4 D5 F4 F5
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B4 B5; G3 =SM (B3 F3),G4 G5 G3; H3 =3M (B3 F3), 2
=4/G3, 33 =1/(N2- 1) * (G3- H3/G3), K2 =SOQRT(1/(N2- 1) /3% (G5- 2* 2* G3) - 02 * 02/
J3),L2 =COUNT(B2 F2),02 =SQRT(M2 * M2 + K2 * K2) , P2 =2 8*02
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